
���������
	���
�
�� ��������������� �!��"$#&%(')"$*,+.- /10�2�3�3546�
7 2
498�:;:<0�49=>:<8��<:;?�@ A63�8�=<=CBD2
4E=GF�8EH�IKJ�46L&MON(I���
�
��
PQ 4E8�FSRT0�8��K:>46�G=UM18���F���@V�<?XWZY[8��<4E3]\^=_L`?(?�a�P
b *c"Kd ef%�# -�gihj��k�4l8��m����=>:<8���An4�?�@U:<0
4l=>:<8�L$354lW�8��G�G��8�	�4��K�<?�LK354EW�o[0
46�<4�:<0�46�<4l8��<4SWi2K35:<�5�K354=<:<8�LK354�W�8��G�G��8�	�4E=6Pp��0
?,oq8�:r354E8�=>:�:sot?uF��wv`46�<4E�(:x=>:<8�LK354lW�8��<�G��8�	�4E=y8���Fz=G0
?Oo{0
?Oo{H�?X2An?XW��K2
:>4EF|:<0
4EW}P
b *c"Kd ef%�#~�`gj�!?X2�8��<4�	X��k�4E��8�=U���
�K2
:�8|=>4E��2
4E��An4�?�@T�c�����(:>46	�46�G=6P 7 4E=<�5	X��8���8�35	�?��G��:<0�W{:<0�8�:�$8��<:<�5:<�5?X��=9:<0
4y��2�WiL`46�G=9���(:>?��z�K8��5�G=9oC�5:<0�:<0
4r���<?��`46�<:sH�:<0�8�:i:<0�4x�K8��<:<��:<�5?X��W�������W��5�64E=:<0�4jWx8c����W)2�W�=<2�W�?�@D8)�K8��5�OP J�?��_4n��8�W��$354�I���@�:<0
4j�(2�WiL`46�G=�8��<4���M��G���G���G�X�T:<0
4U8���=>o�46�_��=��M��G�X�C8���F������G�X�_oC�5:<0|W�8c�
��W)2�W�k�8�3�2
4�M6
�P!�����5:>49F
?,oC�}8�=<0�?��<:;8��<	X2�W�4E�(:;:<0�8�:��>2�=<:<�5��4E=o[0�HrH�?X2}:<0����
axH�?X2
�[8�35	�?��G�5:<0�W�ot?��<a�=6P
b *c"Kd ef%�#�� g1¡¢�<?Ok�4£�fL(H}���KF�2�An:<�5?X�$�¢:<0�8�:j¤c¥�¦`§1¨m© ¥ I�oC0
46�G4)©}ª¬«�­ ¦ ® ¯<°§ PTB;0���=;=<0
?,oC=;:<0�8�:[:<0
4J �5L`?X��8�A6A6�±�(2�WiL`46�G=T	��<?,o²8�:C8��|4n���`?X�
4E�(:<��8�3`�G8�:>4�P
b *c"Kd ef%�#´³�g1¡¢�<?Ok�41L�H£����F�2�An:<��?X�y:<0K8�:

µ¶·�¸ ­O¹
§ ª �¢�f�xº.MO�n���c�£º»MO�¼ ½

b *c"Kd ef%�#~¾`gihj��k�498��}4n�
8�W��K3549?�@¿:<0�49YC?�:>4E3±�K8��<:<�
46�[���<?�LK3�4EWÀoC0
46�<41:<0�46�<49��=;��?x=>:<8�LK354i=>?X3�2�Á:<��?X� P Q 4EA68�3�3�:<0�8�:;:<0�41���<?�LK3�4EW���=_F
46�K�
4EF�8�=;@f?X3�35?Oo[=6P!B;0
46�<418��G4i�c���`46?��K354�I�8���F}��0
?�:>4E3�G?(?XW�=EP!Â¢8�AG0£�`46�G=<?X�y��8��
a�?��GF
46��=t:<0�4��G4EW�8���������	i�c�yÃÄM���46?��$354[���y���<46@f46�<4E��An4j?��GF�46�EP���40K8Ek�49:>?y8�=<=<�5	X�£:sot?y��46?��$354j:>?x8��<?�?XWÀoC�5:<0£:<0
49���<?��`46�<:ÅHy:<0�8�:;:<0
4i8�=<=<�5	X��W�4E��:;��=_=<:<8�LK354�PÆ �Ä2���=>:<8�LK3�4x8�=<=<�5	X�KW�4E��:)��=1?X��4yoC0�46�<4�:<0
46�<4£��=i8��K8����9?�@_�`46?��K354x8�=G=<�5	X�
4EF&:>?lF��5v�46�<4E�(:�G?(?XW�=EI�=<2�AG0�:<0�8�:;:<0
46HrL`?�:<0|���<46@f46�_4E8�AG0l?�:<0
46�;:>?y:<0
41A62
�<�G4E��:_�K8��G:<�
46�G=6P


